Dammam Community College
MATH 011 

Past Exam Questions

Section 1.7
1. The solution set, in interval notation , of the inequality   
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2. The solution set, in interval notation , of the inequality   
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3. The solution set, in interval notation , of the inequality   
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5. The solution set, in interval notation , of the inequality   
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6. The solution set, in interval notation , of the inequality   
[image: image9.wmf]42

13

xx

<

++

 is equal to
Answer:   
[image: image10.wmf](

)

(

)

,53,1

-¥---

U














Page 1 of 1

_1319966255.unknown

_1319966846.unknown

_1319967214.unknown

_1319967271.unknown

_1319966859.unknown

_1319966366.unknown

_1319966403

_1255862623.unknown

_1255862907.unknown

_1255858123.unknown

